КОНТРОЛЬНОЕ ЗАДАНИЕ № 4   (ВАРИАНТ 3)
Чтобы правильно выполнить задание № 4, необходимо усвоить следующие разделы курса английского языка по рекомендованному учебнику:
1. Сложные формы инфинитива (Passive Infinitive, Perfect Infinitive). Обороты, равнозначные придаточным предложениям: объектный инфинитивный оборот, субъектный инфинитивный оборот.
2. Причастия (Participle I, II). Независимый (самостоятельный) причастный оборот.
3. Условные предложения.

4. Грамматические функции глаголов should, would.

Используйте образцы выполнения упражнений.

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 1 (К УПР. I)

	1. Ten thousand fans were recorded to have been present at this football match.
	1. Было зарегистрировано, что на этом футбольном матче присутствовало десять тысяч болельщиков.


	2. We always want our favourite sportsmen to be the best.
	2. Мы всегда хотим, чтобы наши любимые спортсмены были лучшими.


ОБРАЗЕЦ ВЫПОЛНЕНИЯ 2 (К УПР. II)

	1. Sportsmen wishing to be winners have to train hard.
	1. Спортсменам, желающим побеждать, приходится упорно тренироваться.


	2. Having visited Salt Lake City the athletes went home.
	2. Посетив Солт-Лейк Сити, спортсмены отправились домой.


	3. If the system of training had been perfected, we should have used it in preparation for the coming Olympiad.
	3. Если бы система тренировки была усовершенствована, мы бы применили ее для подготовки к предстоящей Олимпиаде.


ОБРАЗЕЦ ВЫПОЛНЕНИЯ 3 (К УПР. III)

	1. If he scores three more goals, he will be considered the best forward of the season.

	1. Если он забьет еще три гола, он будет считаться лучшим нападающим этого сезона.

	2. It would be impossible to win the game without training day and night.
	2. Было бы невозможно выиграть этот матч без постоянных тренировок.


	3. If the system of training had been perfected, we should have used it in preparation for the coming Olympiad.
	3. Если бы система тренировки была усовершенствована, мы бы применили ее для подготовки к предстоящей Олимпиаде.


ВАРИАНТ 3
I. Перепишите и переведите на русский язык следующие предложения. Помните, что объектный и субъектный инфинитивные обороты соответствуют придаточным предложениям (см. образец выполнения 1).

1. Macroeconomics is considered to be the study of behavior of the economy as a whole.

2. We know the economic system to concern with the allocation of scarce resources and the provision of some form of distribution.

3. We expect official operations to affect foreign exchange markets.

4. The Finance Ministry was reported to be the direct manager of the State Bank.

II. Перепишите и переведите на русский язык следующие предложения. Обратите внимание на перевод зависимого и независимого (самостоятельного) причастного оборотов (см. образец выполнения 2).

1. Trade being of great importance for each nation, all countries impose restrictions to protect some of their domestic industries.

2. There are many forms of economic order, ranging from the mixed private enterprise system to partially or completely controlled economies.

3. The goal of an organization having been established, it is time for the members to decide on the type of work activity.

III. Перепишите и переведите на русский язык следующие сложные предложения. Обратите внимание на перевод условных предложений (см. образец выполнения 3).

1. If interest rates were not high enough, we would experience excessive borrowing and spending.

2. If you had put your money into a deposit account, it would have earned interest for you.

3. It would be impossible to get a pension allowance without reaching a certain age.

IV. Прочтите и устно переведите весь текст. Перепишите и письменно переведите 1, 2, 3, 4 и 5-й абзацы.

THE ECONOMIC SYSTEM
1. There are many forms of economic order, ranging from the mixed private enterprise system to the controlled economies. Economic system is the system that a society uses for allocation and distribution of scarce resources. In private enterprises decisions about what and how much to produce are left to owners and managers. In controlled economies such decisions are responsibility of some governmental agency.
2. There is, of course, no economy today that is completely free of governmental influence. There are many beneficial services and protections available from government. It performs certain valuable functions in the life of organizations of all economic order. Among the functions of the economic the most important one is to provide some means of resource allocation.
3. In a private enterprise this function is basically performed by the price mechanism. This simply means that demand for and supply of goods and services interact to set their market price. In taking actions in the area of employment, government attempts to control the economy in such a fashion as to help the community operate at the level of production that will yield full employment.
4. Without a system of distribution economy could not exist. A major part of this distribution system is credit. Economy flourishes on credit or extended methods of payment. Such a system affects every link in the distribution chain from the supply of raw materials to the ultimate consumer. Without this vital financing function being performed, the economy would be forced to a lower order of production.
5. Economic goods for a nation include price stability, full employment, economic growth and equitable distribution of income. Price stability contributes to the efficient allocation of recourses and facilities. Full employment means that jobs are available for those seeking work.
6. Higher standards of living require increased output per person. An equitable distribution of income means that the fruits of the economy are divided in a way that seems fair to the majority of people. We can’t but agree that economies are becoming more complex today. Economics is considered to be the study of the way in which mankind organizes itself to solve the basic problem of scarcity.

V. Прочтите 6-й абзац текста и письменно ответьте на следующий вопрос:

What is economics?
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